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Important Note : 1. On completing your answers, compulsorily draw diagonal cross lines on the remaining blank paiZs.
50, will be treated as malpractice.

2. Any revealing of identification, appeal to evaluator and /or equations written eg, 42+8
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Flftl’l Semester B.E. Degree Examination, Dec. 2017/Jan 3‘2018
M Operating System s
Time: 3 hrs. Max Marks:100
QW PART — A AN
1 a. Whatisan operatmg syshm" Explain abstract view of component of a computer system.
(07 Marks)
b.  List the different serv1ces thar an operating system provrdes prlam (06 Marks)
¢.  Explain the concept of vrr‘tual machmes Bring out its. advantages (07 Marks)
2 a. Whatis a process? With a statc 'diagram, explam states of a process. (06 Marks)
b. Describe the implementation of ”IPL usmg shared’ memory and message passing. (07 Marks)
c. Consider the following set of procozs,, S
Process | Arrival time | Burst time/ )
P 0 R
P, < 3
P; - 3
P4 5 5
i)
ii) Compute the turnaround til;me waltmg t and average waiting time for each
process. v{,l‘; 7 ;,, : (07 Marks)
3 a What is Busy waiting in i crmcal section concept? How semaphore is used to solve critical
section problem? What are thé advantages of semaphores?. (10 Marks)
b. What is a monitor? EXplam the solution to the classical dlmng phllospher s problem, using
monitor. g (10 Marks)
§on Explain Resource»Request algorithm. & (06 Marks)
b. What is a Deadlock? Briefly explain the methods for handling deadiocks (06 Marks)
c. Consider a systemi with five processes Pq through P4 and three resources A; B, C Resources

A has ten \1n§tances resources type B has five instance and resource- 1ype C has seven
mstances Suppose that at time To the following snapshot of the system has becn taken.

Processes | Allocation | Max Available > S
A|[B|C|]A|B|C|A|B|C
Po 0 |1 |0 |7 {5 EREESES 2
P, 2 |0 16 3] au
P, 310 12 |90
Ps 2 |1 11 |2 E8ees
P, 0 ]0]2[4]3]3
(1) Is the system in a safe state?
(ii) If a request from P; arrives for (1, 0, 2) can the request be granted immediately.

(08 Marks)
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; PART -B

\Giw: the difference between (i) Internal and external fragmentation (11) Pagmg and
scgmentatlon 7 (06 Marks)
Discuss. the steps involved in handling page faults with diagram. = (06 Marks)

Consider the following page reference string,

7012‘0,3()4230321201701

for a memo:y with three frames. How many page faults would QCCLli' fér LRU, FIFO and
optimal page repiacement algorithm? Which is the most efﬁc1ent among them? (08 Marks)

Explain the followmg (i) file types (ii) file operations (iii)/ ﬁ}e attrlbutes (12 Marks)
Explain the methods’ dsed for implementing directories. [»\ N (08 Marks)

Suppose a disk drlve has 5000 cylinders numbered 0/ to 4‘)99 Drive is currently serving
request a cylinder 143 amd\}\;rewous request was at cylmderf125 queue of pending requests
in FIFO order is 86, 1470\913 1774, 948, 1509, 1022 ‘1756, 130 starting from current head
position, what is the total d;stances (in cylinder), that the disk arm moves to satisfy all
pending request for FCFS, SSTP\, LOOK and SC'_ N dlSk scheduling algorithm. (10 Marks)
Explain access matrix with exampv Sy Y \V7 {05 Marks)
Explain the various questioning tha{ arise in r‘eVocatlon of access rights. (05 Marks)

Distinguish between fork ( ) and clonc: ( ).system call. Also customize the clone () system
call to fork () functionality with suitable modifications / settings. (08 Marks)
Explain the Linux device drive with the. block structure. (12 Marks)




